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># 00000

>

> setwd("d:\\")

> dl <- read.table("ODOO_O0O0O .csv", header=TRUE, sep=",")
> d2 <- d1[2:4]

> head(d2)

develop shoes math
1 56.8 17.0 37.9
2 72.3 16.5 21.2
3 73.6 17.5 40.5
4 74.6 17.5 43.7
5 79.6 17.5 35.2
6 79.6 18.5 43.2
>
># 00000
> (r.d2 <-cor(d2))

develop shoes math

develop 1.0000000 0.7597318 0.6074204
shoes  0.7597318 1.0000000 0.5658061
math 0.6074204 0.5658061 1.0000000

># 000 200000000000000000000O000
# J000ooOO0obOoooobobobooog

#partial correlation matrix
#
hensoukan <- function(x){
if (det(x)!=0){
inv.r <- solve(x)
p <- nrow(x)

par.r <- inv.r

par.r <- d.r %*% -inv.r Yx% d.r
diag(par.r) <- rep(1,p)
rownames (par.r) <- rownames (x)
colnames(par.r) <- colnames(x)

3

>

>

>

>

>

+

+

+

+

+ d.r <- diag(1l/sqrt(diag(inv.r)),p,p)
+

+

+

+

+

+ return(par.r)
+

>

>

>

hensoukan(r.d2)



develop shoes math
develop 1.0000000 0.6351930 0.3311782
shoes  0.6351930 1.0000000 0.2019794
math 0.3311782 0.2019794 1.0000000

# 000000000000 000000000
d3 <- scale(d2)
n<- nrow(d3)

r.xgx <- r.d2

for (i in 1:2){

for (j in (i+1):3){

x <= d3[,c(i,j)]

y <= d3[,c(-1,-3)]

P <- yi*lhsolve (t (y) %*hy) hxht (y)

Q <- diag(n) - P

xqx <= t(X) %% Q %*% x

r12 <- xqx[1,2]/sqrt(xqgx[1,1])/sqrt(xqx[2,2])
r.xqx[i,j] <- ri12

r.xgx[j,i] <- ri12

}

}

r.xqx

V + 4+ + + 4+ + + + 4+ + + V V V V V

develop shoes math
develop 1.0000000 0.6351930 0.3311782
shoes  0.6351930 1.0000000 0.2019794
math 0.3311782 0.2019794 1.0000000

> # partial.r JO0O0O00O0D0101000
> library(psych) OO0 # psych 0000000000
> partial.r(d2, c(1,2), c(3))
partial correlations

develop shoes
develop 1.00 0.64
shoes 0.64 1.00
> partial.r(d2, c(1,3), c(2))
partial correlations

develop math
develop 1.00 0.33
math 0.33 1.00
> partial.r(d2, c(2,3), c(1))
partial correlations

shoes math

shoes 1.0 0.2
math 0.2 1.0



